Lao line-breaking issue
The following example (with increasing window width) shows one situation where the line breaking

algorithm used by Chrome, Safari (MacOS) and iOS could be improved. Although in strict usage, U
should always be used word (or syllable) initially, M) is very widely used. In most cases (as in the
example) this is quite unambiguous, as in Lao U) can never be used syllable-finally.

ﬁuaﬁcaaj Correct breaking
ﬁuaﬁcaejm Incorrect breaking
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ﬂUQJJCE]E}‘:]mJJ"}E} Correct breaking




